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MANIPAL ACADEMY OF HIGHER EDUCATION

B.Pharm Semester 11
End semester examination

Pharmaceutical Organic Chemistry-1 JPCH-BP202T]
Marks: 75 Duration: 180 mins.

I Multiple Choice Questions (MCQs)
Answer all the questions, Section Duration: 30 mins

Answer all questions

1) Which compound produces only one alkene when treated with sodium methoxide?
1 2-chloro- 2 3-chloro- 3) 3-chioro- 4 2-chloro- (1)
2-methylpentane; 3-cthylpentanc 2-methylpentane 4-methylpentanc
2) When 3-iodo-3-ethylpentane is treated with sodium mothoxide in methanol, the major organic product
is an that is generated through an mechanism. (1)
D Jether, SNI|  [2)ether, SN2[  [3)] alkene, E1]  [4) [alkene, E2] |
3) Which of the following statements applies 1o the E2 mechanism?
The C-H
It proceeds
: . and C-X
It occurs with It occurs with through the more (1)
. , - e bonds
1} |inversion of 2) |racemization of 3) |stable 4) A
stercochemistry. stereochemistry. carbocation
. : must be
intermediate. A
anti.
4) Which compound is lcast acidic?
M
|b rerecozn] |2y [ciciocozn]|  [3)[Brenzcozs] (4 [icH2cozr] |
5) Aspirin is an acetylation product of
_ — : el )
1) ® lhydroxybenmlc 2} |O-dihydroxybenzene| |3) - _hydt‘oxy beoly 4) |p-dihydroxyhenzene
| |acid acid 1
0) Alkyl halides react with metallic sodium in dry ether producing?
Alkanes with Alkanes with Alkenes with Alkenes with the (1)
1) |same number of] 2) (double number 3) [triple number 4) 'same number of
| [carbon atoms of carbon atoms of carbon atom | | |carbon atoms. i
7 In primary alkyl halides, carbon attached to the halogen atom is further attached to how many carbon
atoms?
(n
il i B3l [old |
&) Oxidation test of alcohol using KMnO4 in presence of acetic acid is called as
. » (])
MRittcr Testl 2) |Esterification J 3)| Lucas tcstI T’l)IVictor meayer tcsi-[ }
) Losing a small molecule from the original organic molccule is
| Ielimination substitution addition " Inone of the M
) reaction 2) reaction 3) reaction % above
10) The irritation caused by red ants bite is due to
e ()
) |Uricacid]  [2)[Aceticacid]  [3)[Lacticacid]  [4) [Formic acid
1) Seiect the IVPAC name for: (CH3)ZCHCH{OMCH2C{CH3)3.
2,5,5- ' ' 2,5- (1)
i ety - L butanol | |2 kimethylisopentanot | 9 (dimethyl
3-hexanol P 4 WAISAPETiRg 4-hexanol
12} The reaction used in the conversion of alkenes to an equimolar mixture of aldchydes and ketones 1
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13) 'The nucleophilic addition reactions of aldehydes are carried out in following medium if the incoming
nucleophile is weak (m
|1) lNculra[[ |2) IAcidic{ |3) | weakly basic| |4) ‘cxlrcmcly basic[ |

14} What is the correct order of reactivity of the following towards nucleophilic addition?

Acetone>
1) |Formaldehyde> Acetaldehyde> Acetone| |2) i\cetaldehyde 3 f\(;z;ﬂgihyde> 4} i(czfe::zlndechyd@l?ormaldehy de> | (1)
Fetmalidhyie Acetaldehyde
15) Shape and type of hybridization found in methylium ton (CH3+) are
Trigonal T rigba Trigonal ' Trigonal (N
1} |pyramidal and 2) |planar and 3) |pyramidal and 4) |planar and
Sp2 ) Sp2 SP3 SP3

16) The discoverer of peroxide effect in alkene addition
|I) l Markonikov| |2) ’Zaitscv| |3) |Vladimir lvanov[ |4) |Kharasch[ 4' &)

7 Which of the following is not an clectrophile?

[h[izo] [olc]  |njusd  |o|pe| | =

18) Which of the following will undergo self aldol condensation in the presence of dil. NaOI?
ez cnciio]  [fei- ccno|  [3)]cuschzcno] 4] csnscHo) |

19) Which of the following has most acidic hydrogen?

[1)] 3-Hexaone]  [2)] 2.4- lexancdione]  [3) [2, 3-Hexancdione]  [4) ]2, 5-Hexanedione| | 2

20) Which of the following will give a corresponding aldehyde or ketone upon oxidation?

(1)
} [;rittk:'g;)hcnol 1 (Z)TZ-I-Iydroxypropane } E:E’;{Zﬁi{g;pmpam ( ]4) \Phenol W

1 Long Answers
Answer all the questions.

Answer all questions

1) a. Explain the reactions of alkyl halide with metals 5 marks
b. Write the comparison of SN1 and SN2 reaction 5§ marks

2) a. What is kinetic and thermodynamic control of a reaction? Lixplain 1, 2 and 1, 4 addition of a
conjugated diene with suitable example.(1+4- 5 marks)

(10)

b. What s peroxide effect? Explain the mechanism of peroxide initiated free radical addition of alkenes (10)

with suitable illustration. {1+4=5 marks)

IH Short Answers
Answer all the questions.
Answer all questions
1) State Saytrzeffs Rule and explain with suitable example.
2) Why acetic acid is stronger acid than the ethanol? Explain
3 Write the structure TUPAC name and medicinal uses for the following compounds

a. Oil of wintergreen b. Benzoic acid c. Aspirin

4y Give structures for the following IUPAC names

a. 3,5-dimethyl-4-propylhept-1-en-6-yne
b. 4-Bromo-3-methylpent-2-ene

¢, 2,4-dimethylpentanoic acid

d. cthyl pentanoate

(5

(5)

)

(5)
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¢. 3-Oxo-Heptanoic acid

3) How will you convert benzaldehyde to 2-hydroxy-1,2 di{phenyl)ethanone? Explain with suitable
mechanism.

)
6) Write the structure and one use for the following compounds

a. Hexamine

b. Vanillin (5)
¢. Cinnamaldchyde

d. Paraldehyde

e. Chloral Hydrate

7) What is isomnerism? Explain the structural isomerism with one example cach class. (s)
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